Here is a line graph showing the temperature in a garden.

fempersure ngerden What was the temperature at
NN 5p.m.?
i B IS What was the difference in
i ;m - ";p"-m--- ~spmEem 7em s-.m temperature between 3 p.m.
5o and 7 pm.?
o] " When was the temperature
o 4°C?

Estimate the time when the temperature was 0°C.
Estimate the temperature at 6 p.m.

This line graph shows the population growth of a town.
Population growth

What was the population in 19857

70— ) How much did the population
) grow between 1990 and 20107
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The graph shows the number of cars sold

by two different companies.
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*How many more cars did Ace Motors
sell than Briggs in April?

*From January to March, how many cars
did each company sell? Who sold
more? How many more did they sell?
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Match the graph to the activity.
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~ A car travels
o at constant
3 § speed on the
motorway.
Time \- j
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\. J

Time




